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(�) (�) 

�����  3 

���	� 
 

3.1 �
�������������������
������
��������� �
 
  ��	
�����	
���
�
�������������������������� �
�������!������
�
��       
���������
�� �"	�
�#$�������� � (unbalanced wheel) �	��/#��0�1��� (out of round tire) 
������������ 
78�
�
�� ������$��9����������
�
��������:���� 
  3.1.1 ���!��!��������� 
 /#��������������
�$��#������;/ �<�=���������>���	� /#�����;1�;��?��
	�@�$���������	�;"���� � ���	A7�$� 3.1 "
�����D������������$�0�1��� ?��	�@�$�������$�E���
0���1����	�:�����$/#��0�1
��9�

�����!�
1�E����
���/#��0�1
�� ���	�� �
������������ �
07 F���
�
�� �����1�#
���!��#�G$��	E��� 
:1� "�1=��=H����	��1������!0�1���!	��F���!��9����  
�������$���1������
;$��# �	������$��9����������!��"�1=��=H���� 
�����������$/#��	���"��   
�1����#��A1 
�����9����������!��"�1=��=H��!�9����������

$�	A707  "��/#��0�1������������
��!
���!����	7	���;�������$�
�����@A��H (eccentric) ���"
����	A7�$� 3.2 F���!��9����
�����	
�	����"����	
���
�
����
������������ � 
 
 
 
 
 
 
 
 
 
 
 
	A7�$� 3.1 "
��/#��0�1������������ (�) �	������0�1��� (�) 

��	�;#�������0�1��� [24] 
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	A7�$� 3.2 "
����	
�����@A��H��������� [24] 
 
  3.1.2 ����#����������
#!$
��������� �
 
  /#��0�1
�� �"	�
�#$���	�;"���� � (Rotating Unbalance) �����������     

���!��/#��0�1
��9�

�����
������� �#����������	�!��0�1
��9�

�� =����$��������������
:�����0�1
����	�	��/�	A7	�;"���� � ���"
����	A7�$� 3.3 ;��! ��$�#���� ;��! ��$�#�
���� 
������������07! ��$��$�#����!��$"	�
�#$��� (Centrifugal force) ����#1�! ��$��$�#����� �9����

���/#��0�1
�� ����"	������������ � 
�����	�	���� 
/������$���������"�#������������� 
���"
����	A7�$� 3.4  
 
 

 
 
 
 

 
	A7�$� 3.3 =����$��������������:�����0�1
��9�

�� 

 
 
 
 
 
 

	A7�$� 3.4 "
�����������
�� �"	�
�#$�������� � (unbalanced wheel) [24] 

���:����� 
���:������ 
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�
�� �����1�#
���!�� ��������������	��#�����	A7���:�����"�����:������ �1���9�07�; F���
0�1
���	?��#�����	A7���"�1��:������"�1�
��9 � 

�� "��/#;/ ������� ����������                       
�$/#��
����	0��  !���9����
�����	�	�!���#�"��	A7�	��$�0�1
��9�

�� ��������������	�;
����������P
78��$��������������$�0�1
���	?/#;/ ����:��������/�	A70#�0�� ������;
�����$��	
���/#��	�����;
�������  ���:������$��	0��
7�$���"7��	A7�	�07 !���$�0����1�#�����������!

78�
�
�� ���/#��0�1
�� �"	�
�#$���	�;"���� � (Rotating Unbalance) �������������	A7�$� 
3.5 "
��?��>�
���$��:�#�
/	���H/#��0�1
�� �"	�
�#$���	�;"���� � 
 
 
 
         
 

  

 

 

 

 

 
	A7�$� 3.5 /#��0�1
�� �"	�
�#$�����������������	���; 

 
  =�!�	��	�;;�$��$
1#��� ������������� F����9�����������������$�#�
�1���; 
M  "��
�� ������$�#��$��9����
�����	0�1
�� � 
�����!��/#��0�1
��9�

������������ �#��$�    
0�1
�� ��$���� m  ��A1�1��!��"��
=���� �
�1���; e  ���"
����	A7�$� 3.5 �9����"	��$�
���"	�

�#$�����$@A��H��������#�
�����@A��H�$��$����
�1���; 2ωme  
���� ω  /��/#��
	P#	�;!��@A��H 
  
  "	��	��9��$�
=��������"�#����$����
�1���; 
   θω cos2meFhorizontal =      (3.1) 
  
  "	��	��9��$�
=��������"�#�����$����
�1���; 
   θω sin2meFvertical =      (3.2) 

e
 

M  

m  

2ωme  

horizontalF  

verticalF  

ω  

Y 

X 

θ  
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����
�� �����	�;;������������"��";	���
78�	�;;�#�-
7	��-��#��1#� (mass-spring-damper 
system) "��
�� �����"	�;��0�1�$E��1���	
���
�
����������������!�0��
���	��	
/������$�
���"��
=������$� 
  
���	��	
/������$����"�#��� 
   θω cos2mekxxcxM =++ &&&     (3.3) 
  
���	��	
/������$����"�#���� 
   θω sin2mekyycyM =++ &&&     (3.4) 
 
"�1
�����!��/#����������9�����$���1�����";	����$/#������������ �������/1����/#����1#� ( c ) 
!���$/1����� 
���	?�$�!��������070�� �������
���	 (3.3) "�� 
���	 (3.4) ��	A7
78�����$� 
  
���	��	
/������$����"�#��� 
   θω cos2

mekxxM =+&&     (3.5) 
  
���	��	
/������$����"�#���� 
   θω sin

2
mekyyM =+&&     (3.6) 

 

��%����&' 
 M  : �#������������� 
 m  : �#��$�0�1
�� � 
 e  : 	����1������#��$�0�1
�� �!��"���� � 
 ω  : /#��
	P#	�;��	�� � 
 c  : /1�/���#��	��1#����	�;; 
 k  : /1� stiffness ���
=�� 
 θ  : � �����#��$�0�1
�� ��� �07!��"�#	���; 
 x  : 	������
/������$���"�#��� 
 x& : /#��
	P#��"�#��� 
 x&& : /#��
	1���"�#��� 
 y  : 	������
/������$���"�#���� 
 y& : /#��
	P#��"�#���� 
 y&& : /#��
	1���"�#���� 
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  3.1.3  ��%%�&���������
��������
�(��������������������!�!�$����

�#����������
#!$
��������� �
 
 
�YY����	
/������$���	���;���"��
=�����
�����!��/#��0�1
�� �"	�


�#$���"��/#��"�P�����������$��� ���#�/#��
	P#/��$� !��$���D����	
/������$�";;Z�	H>����
H
��1���1�� (Simple Harmonic Motion) F���
���	?@��D�
�YY��0��!�� 

1.   	���;���
A�
 � (Peak Level) 
78���	;��/1�	���;
A�
 ����
�YY���$�

;$���
;�07!��	���;@A��H  

2.   	���;���
A�
 �?�����
A�
 ��$��������� (Peak to Peak Level) F����P/�� 
��	;��/1��������
�YY���$�#��!��! �
A�
 ����;#���;! ���9�
 �����; 

3.   /1�
b�$�� (Average Level) 
78�/1�
b�$�����
�YY���$�
���������:1#�
#�������d 
���	�$���#d07�$�
�YY����	
���
�
�����$/1�
78�����;#�"���;
����
�$�;��;�9�"��1�
�� �        
F���!��9����/1�
b�$��
78�@A��H /1�
b�$�����	�$�$�!�/��>���9���	
7�$���
/	�����������
�YY���$��;
���
78�;#� (Rectified) "��#!��/��/1�
b�$������� 

4.   /1���	H
�P�
�
 (RMS, Root Mean Square) 
78�/1��$�0��!����	�9�
�YY���$�#��
0����>�
��
#���$�
���������:1#������d �����9����
��"��#�9���	
b�$������/�;"��?��	���$�
�� 
 

    dttX
t

X rms )(
1

0

2∫=
τ

    (3.7) 

 
   5.  /1�"h�
��	H
/	
�H (Crest Factor) 
78�/1����	�
1#���� Peak Level ��; RMS 
Level F���/1������1�#!��������A�#1����D��
�YY����	
���
�
�����$�#��0���$"�#>���
78���	

���
�
�������D��";;�	�"�� (Impulse) �	��";;
 1� (Random) ���	�$�$�
78����D��";;
�	�"��/1�"h�
��	H
/	
�H!�
A� 
1#��	�$�$�
78����D��
 1�/1�"h�
��	H
/	
�H!���9� 

 	A7�$� 3.6 "
��?��/#��
��=��GH�������
�YY����	
���
�
������";;�1��d 
��� ���� 4 ";; F����:����	�$�$�
�YY����	
���
�
����
78�";;Z�	H>����
H (Harmonics) 	A70F�H 
"��#1�	A7";;!	�������	
���
�
�������#d070�10��
78����D�����/����	A70F�H "�1��1��0	�P�$?��
��	
���
�
�����$���D��
78�/�; 
�YY��
��1��$��P!�
���	?"�����
78�E�	#����
�YY��
0F�H����d /#��?$�0������kDl$���hA
	$�	H (Fourier) �������/#��
��=��GH"��/#���������
��1#�#������
�YY����	
���
�
�����$���1�#��"��#!��
���	?�9���7	�� ��H�:����0���$ 
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 ���/#		�#��7	���	����� /�� ��	/9��#�
=���
7�$���/1���	
���
�
�����$��	#!#��
0��!��	�;;�����07
78��$�	�;;��������� 
:1� !�� Peak to Peak 07
78� RMS 
78���� /1��$�0��	�;
!��$/#��?A����������� �����������9���	�	#!#��#�
/	���H��	
���
�
����������	�:�����A���
	�;;�� �P
�/#	�$�!��9���������	�	#!#��
78�07��	�;;���� 

 
 
 
 
 
 
 
 
 

 
	A7�$� 3.6 ��1#�#����	
���
�
����  

�$��� : http://www.cyberg.wits.ac.za/cyberg/sessiondocs/physical/physio/physio2/physio2.htm  
 

  3.1.4  ��%%�&������
������
 
  
�YY����	
/������$���	���;���"��
=��
���	?@��D���	A7��	
���
�
����
0�� >��@��D���	A7��� /#��?$� ���������	
���
�
���� � �
h
 
  3.1.4.1 ���!*�� 
  /#��?$����$��$�����?��/#��?$������	
���
�
���� F������=�!�	��
�YY����	

���
�
����;�>�
��
#���P����?�� !9��#�	�;�����	
���
�
�����1���1#�
#�� F�����1#��$�
�����:�!�
78� CPM (Cycle Per Minute)   

  3.1.4.2 �
�����������
������
 
  
78�=�	���
��	H�$�
9�/�Y�$���#������$��:�;1�;��
<�=���	�;; >�����#07"��#

�������������	
���
�
�����$������Y1�1������?����	�$7oY���$���!
1�E����
���/#��

$����
0�� ���������	
���
�
�����$����:��� >���$=�	���
��	H/�� ��	�!��	�����	
/������$� 
(Displacement) /#��
	P# (Velocity) /#��
	1� (Acceleration) 
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3.2  �$+��&' ��,���������
������
 
  � 7�	�H�	#!#����	
���
�
���� (Transducer) �9������$� 
7�$���"7�� 
��	
���
�
�������#��? 
78�
�YY��0hhs� F���
���	?�9�
�������� ;����� "
�� "���9�E���
�:�#�
/	���H����A���	
���
�
���� F���!�7	���;��#���#�	#!#�� 
��
/
;��"��
/	����7	��#�E�
"���1��E� ����	
�����:���#�	#!#�� =�!�	��0������$� 

1) ��#�	#!#��7	�
<�	������!��	#!#��/#��?$�
A�
 �0��7	���� 1500 Hz 

�������!��7oY��
	����"	��	��9�"��
�YY��!�����D��/#���	 �	����
=�� 

2) ���D��"��>/	�
	��������#�	#!#��7	�
<�/#��
	P# 
78���#�9����:1#�
/#��?$���	�	#!#�� F���!���A1��:1#� 10-2000 Hz  

3) ��#�	#!#��7	�
<�/#��
	1� 
���	?#����	
���
�
����:1#�/#��?$�����"�1��9�
�#1� 1 Hz 0��!�?�� 20 kHz F���>�����#07!�0�1�:��	��
��#
F�	H (Transducer) 
=$����#
�$�#��:1#�
��	#���#������
:1��$� 
>��
���	?
	 7������	�9����"������$���

$������#�	#!#��"�1��7	�
<�0������$� 
  3.2.1 +���-�.!/��!0�� (Non-contact displacement transducer) 

 >�����#07��#�	#!#��7	�
<�0�1
��E�
!��:�������	�	�"
0��#� (Eddy 
Current) ����	�	#!
�;��	
���
�
���� : ��	#!#��7	�
<��$�7	���;��#� ��#�	#!#�� 
�� 
"�� 
/	�����9�
����	�"
0hhs�
��; (Oscillator) / �$���A
�
��	H (Demodulator) 
������	�9����"�����D��>/	�
	��� 

 ��#�	#!#��7	���;��#�
��0h�� (Coil) ;		! ��A1��"�1�=��
����	��
F	����F���
0�1�9�0hhs� ����	�9���� 
/	���� !�
1�
�YY��/#��?$�	���;
�$�#��;/����#���  (7	���� 1.5 MHz) 
E1��
��07������#� (Coil) /����0hhs��$�!��9����
���
���"�1
��P��$�7��������#�	#!#�� 

 
�����9���#�	#!#��070#�������;
�	��#�9�0hhs� 
:1� 
=�� 
78���� !�
����	�"

0��#� (Eddy) 0��E1��	��#1��
�������
��"���:�=������;��
1#�����	�"
0h�$�
/	�����9�
���
�	�"
0hhs�
��; (Oscillator) / �$���A
�
��	H (Demodulator) 
1�07����$���#�	#!#�� ���	A7�$� 3.7   
�����D���$�
�YY��0h�$�0��	�;���;��!�?A�"7�
<�= (Demodulate) ���;�����
78�/����      
��	
���
�
���������D��
�YY��0hhs��	�"
�	� 
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	A7�$� 3.7 ";;"
�����D����	�9������� Eddy current displacement probe [2] 
 
 
 
 
 
 
 
 
 
 

 
 

	A7�$� 3.8 ���D��
�YY�����	�;; Eddy current displacement probe [2] 
 
 	A7�$� 3.8 "
�����D��
�YY��0h�$�0��	�;�����#�	#!#��	�;;�	�"
0��#� 

(Eddy current) F���!�
�P�0��#1�/1��$�0��	�;!����	�	#!#��";1�
78�
��
1#���#��������$� 

1#��$� 1 
	���!����	�$���#�	#!#��
��E�
��;
�	��#�9�0hhs� !��	�����?��	���

����� !�0�1�$
�YY��0hhs��	�"
�	� >��7���	����$�!���A1��:1#�7	���� 0.25 mm 

1#��$� 2 
78�	�����	�	#!#�� F�����#�	#!#��!�
1�
�YY��0h�	�"
�	��$�     

"7	E���	���;	����1��	��#1����#�	#!#����;E�#
�	��#�9�0hhs� 	����$�>��7���!���A1��:1#�
7	���� 0.25-2.5 mm ��
1#����/1�/#��0#�$��$���	x���9����/	1�#d 0#�#1� �$�	����1��
7	���� 0.025 mm /#	!��$/1�/#���1��@���H7	���� 100 mV  
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1#��$� 3 
����
�������#�	#!#��������1�����
��	�������� >��7����$�	���
����#1� 2.5 mm /1�/#���1��@���H	��#1��0h�$�7s��"���$�
AY

$�07��;��	
����	�"
0��#� 
(Eddy) !�������� !�0�1
���	?"7�
78�/1���	
���
�
����0�� 

��	�	#!#��/1���	
���
�
����!��	��9���:1#�	������
1#��$� 2 
�1����� 
��#"7	�$��$E��	��;�1���	�	#!#�� 

��#�	#!#��"�1����#!�����0��	�;��	7	�;
�$�; (Calibrate) 
b=��
9��	�;:���
���! ��$��9���	#�� 
�����!���	�"
0��#� (Eddy) !�"7	E����;/#���9�0hhs�"��/#���9�
"�1
��P����E�#>����$�!��9���	�	#!
�;����d 
�����9���#�	#!#���$�0��	�;��	7	�;
�$�; 
(Calibrate) 
9��	�;
��P�:�������� ���:���;
��P��$�:��������!��9��������A��$�0��	�;E��=���07

�P����� � ��<A��
A��$E��9����	���:1#���	#�� (Linear range) ���	A7�$� 3.8 ������ 

"	����0hhs��$E��9����/#��0# (Sensitivity) �����#�	#!#��
7�$���"7�� b�����
���!��:���#�	#!#��7	�
<��$���;#��? �	��
���"#������$��$��	
7�$���"7��/#����� /#	!��9� 
��	�	#!
�; "��7	�;
�$�; (Calibrate) ����A����
����
�?A�����

$��1�� 

?�����D��>/	�
	��������#�	#!#��"����#"7	����d /��$� ��#�	#!#���$��$

��
E1��@A��H�����$�7�����#�	#!#����Y1�#1� !��$	���:1#���	#�� (Linear range) ����#1� 
���!9���� 

!�����D�������	�	#!#�� =;#1�����A�/1���	
���
�
�����$�
�������
78�/1� 
��	
7�$���"7�����	������	��#1����#�	#!#��"��! ��$��9���	#�� "��
78�	���
��=��GH F���
����/#��#1� /1���	
���
�
�����$�
�������0�1�:1/1���	
���
�
�����$�"��!	�����! ��$��9���	#�� "��
0�1�:1/1���	
���
�
���������#�	#!#��
����#� 

���D����	�9��������	�"
0��#� (Eddy) 0�1
���	?";1�"�����	��#1��
	���	 �	� 	���1#� 	��
;$��#���
=�� /#���9�0hhs� �	��/#���9�"�1
��P� ���	�$���	1��	��
/#���	 �	�;�
=���$� /1���	
���
�
�����$��	#!
�;0�� !�
78�E�
b�$�����	����1��"��/#�����
���	���	 �	�����  

/#�����/#��
;$� �#���
=���	��! ��$��9 ���	#���$��$E��9��������A�/1 �               
��	
���
�
�����$/#��E��=���0���$ 2 ���D��/��  

1)  /#�����/#��
;$��#���
=���$�! �#��������<�= (Physical Runout) �$E�   
�9��������A�/1���	
���
�
�����$/#��E��=���0�� >��7���/1�/#������$����������#1� 10 % ���
	�����	
���
�
����
A�
 ����
=��?��#1����	�;0�� ��1��0	�P��� ��	�$�!�E����	������
=������$



   

 

30 

/#��
;$��#�����#1� 5 m (0.2 mils) 
78�
	������� b�����
9��	�;
=���$��� ���#�/#��
	P#
A� 
:1� 

=��
��	H>;:�	H!
!� (Turbo-Charger) /#��
;$��#���
=��!��?A��9����0#��$� 6 m (0.25 mils)      
/1�/#��
;$��#���
=�������D����	
���
�
�����$��$���D��
78�
#�
��	H (Vector) !��0�1
���	?
�9�/1�/#��
;$��#�$����;���!������A��$�0��	�; 

2) /#�����/#��
;$��#���
=���$�! �#��!��"�1
��P�0hhs� (Electromagnetic 
Runout) F���
78�E��$�0��	�;!����	�������
�� (Ground/Polishing) �	����	�;�9���!"�1
��P�         
�$�
�;A	�H (Incomplete Degaussing) ���D��/#��
;$��#�$��$E��9��������A��$�0��	�;���E��=���

:1���� 

3.2.2 +���-�������!��C� (Velocity pickups) 
���D��>/	�
	��� 

 	A7�$� 3.9 "
�����D��>/	�
	��������#�	#!#��7	�
<��$� <����7	���;��#�
���#� (Coil) �$�	�;���"���$"�1
��P������A1�	����� �$�7�������
���������"�1
��P��$
7	�����
��A1 "��	�;;�����A1��
�	��#��1#�";;���
��# (damping fluid) F���
1#����
78�
�	7	�
<�

��
/	���H ! �7	�
�/H�����	�:�
7	��"����#��1#�";;���
��# (damping fluid) 
�����!�� 
��	���";;�����#�	#!#���$/#��?$�G		�:�����9�
 �
�1��$�!��9�0�� 

 
 
 
 
 
 
 
 
 
 

	A7�$� 3.9 "
�����D�����>/	�
	������#07�����#�	#!#��7	�
<�/#��
	P# [2] 
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������	�9���� 

�����9�
����#�	#!#���$�07�����A1��;! ��$�!��9���	#��#��? �$�
���
�
���� "�1
��P�<����

��##��!�
/������$�"���1����
����	�"
0hhs��$����#� F���
���	?�9�/����0hhs��$�
��������$�07�:���
��	#�
/	���H "��
�P;;�����0������$>��0�1����E1��� 7�	�H7	�;
�YY����d 
�����!��/����0hhs�
�$�
78�7	�
<����=$
��FH (Impedance)  ��9� ��	A7�$� 3.10 "
��/#��0#�����#�	#!#��7	�
<�
/#��
	P# 

 
 
 
 
 

 
 
 
 
 

	A7�$� 3.10 ���D��/#��0#�����#�	#!#��7	�
<�/#��
	P# [2] 
���!9���� 

 ���!9������
1#��1��/#��?$������#�	#!#��7	�
<�/#��
	P#�$��$��A1 2 7	���	
��#����/�� 1) /#��?$��1���	#!#����9�
 �!�������A1
A��#1�/#��?$�G		�:�����1������ 10 
�1� "��     
2) /#��?$��1���	#!#��
A�
 �������A1��;/#�����������#��1#�";;���
��# (damping fluid) "��
��9��������"�1
��P� 

 ��#����!9����
��7	���	�$��9������#�	#!#��7	�
<��$��$�1����	�	#!#����A1
��:1#�7	���� 10-1500 Hz (600-90000 RPM) 

 7oY���$�
9�/�Y�$�7	���	����������#�	#!#��7	�
<��$� 
78�7oY��
�����!�� 
��	�:���9����
78���#��1#� (Damping fluid) F����9������	�:�?A�!9������A1��:1#�� ��<A��0�1
��� 260°C 

 ��#�	#!#��;��	 1��:�	�;;��	��1#� (Damping) ";;0hhs�"��# EA��:�!������$
/#��
����!"�����/#��	����	�#����
1#����� 7�	�H�$��9����:�	1#���;��#�	#!#�� 
�����!��
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!������	#!
�;���=$
��FH (Impedance) ���
�YY��	�;"��
1� ���
/	����"����#�	#!#���$���1��
��
�$�����!��$��	
7�$����:�
/	�������� 7�	�H 

 7oY���$�7	���	������$�=;���;1��/	�����;��#�	#!#��7	�
<��$�/�� :9�	 �

$�����1�� 
�����$�
�������!�����D��>/	�
	���"����	�9����F����$:���
1#��$�
/�����0�#"��:9�	 �0��<���� 

 ?��"��#1���#�	#!#��7	�
<�/#��
	P#�$�!��$���

$���A1;��� "�1�P�$����$��
	����

�YY���9����:�#�
/	���H0��
�� >��0�1�����9���	�������
/	����� 7�	�H
9��	�;7	�;
�YY���1��
/#��?$��	#!#���P��A1���1����	�9�������
/	����!��	���#07 
���	?�9���	���������;
/	����!��	0��
�1�� "��
��
�YY���$��:��P0�1!9�
78�����
78�
��=�
@D 
  3.2.3 +���-�������!��/� (Accelerometer) 
���D��>/	�
	��� 

 ��#�	#!#��7	�
<�/#��
	1��$������:������A1��7o!! ;���:�������	���=�>F��
�P��	�� 
(Piezoelectric) 
78�
1#���Y1 	A7�$� 3.11 "
�����D��>/	�
	��������#�	#!#��7	�
<� =�>F��
�P��	�� 
F���7	���;��#�
7	���$��9������$�����9�����E���=�>F��
�P��	��0#������A1����d 
�����9���#�	#!#��    
07�����;
/	����!��	��	
���
�
�������
/	����!��	!��9����E���=�>F��
�P��	��
�����	
���E���
�	�"
0h�����F���
78�
�YY����	
���
�
�������
/	����!��	 
1#�7	���;�������?A�;		! ��A1
��1��"�P�"	�"�1��������#
	��� (Case) �����#�	#!#�� 
������	�9���� 

 ��	�9���������#�	#!#���$��:�������	
�$�#�����;��	�9���������}��� 
/#�	H�F (Quartz) ���#d 07 ��1�#/�� ���G		�:���E���=�>F��
�P��	�� !�
1��	�"
0hhs������

����?A���9��������� ����$� ?���9�
����#�	#!#���$�07�����A1��;#��? �$�
���
�
���� E���=�>F��
�P��	��
?A�����#�"	�!���#���9������$�
���������D����	
���
�
�������#��?  E����$�!�����	�"
0hhs�
�����"7	E�����"	��$�?A��	��9� 

	A7�$� 3.12 "
�����
�P�#1���#�	#!#��7	�
<�/#��
	1�!��$�1��/#��?$��:����

A�
 ���9��#1�/#��?$�G		�:������#��? 
�� >��7���/1�/#��?$�
A�
 ��$�!��:����!���A17	���� 1/3 
�	�� 1/5 ���/1�/#��?$�G		�:��� 

 ?���:�E���:���
�$�#��� /#��0# (sensitivity) �����#�	#!#��!�������A1��;�#�
��9������$��:� ��#�	#!#���$��$/1�/#��0#
A�!��$�#���9���������#1� F�������/#��?�� ������9�����
�$�������� "��/1�/#��?$�G		�:����$���9��� 	A7�$� 3.13 "
�����
�P�#1� ���
	�������	��#�	#!#���$��$
�1��/#��?$�����	#��
A� ��#�	#!#������!��$/#��0#��9� ��9�����
;�"���$����
�P� ?��"��#1�
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��#�	#!#��7	�
<��$�!�
78�7	�
<��$�E����	�"
0hhs�0��
�� "�1
�YY��0hhs��$�0�������
78�
7	�
<��$ ���=$
��FH 
A� 0�1
����
��$�!��9�07�:�����$ b�����!�������$#�!	0hhs��:�/#;/A1��;
��#�	#!#��
=���
7�$���
�YY���$�����$ ���=$
��FH ��9��1���$�!��9�07�:� 

 
 
 
 
 

 
 
 
 
 

	A7�$� 3.11 ���D��>/	�
	��������#�	#!#��7	�
<� Piezoelectric [2] 
 

 
 
 
 
 
 
 
 

 
 
 

	A7�$� 3.12 /#��0#�����#�	#!#��7	�
<� Piezoelectric [2] 
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   ��#�	#!#��7	�
<��$��$#�!	
7�$������=$
��FH ��A1<����!�
��#�����	
�������"���:���� 
��
�YY���$��1�������P0�1!9�
78�!�����
78�
��=�
@D 	�;;�$�
78�	�;;�$�
���������A1���#07 "�1!��$7oY����
	����� ��<A��F�������$� ��<A��
A� #�!	0hhs�0�1
���	?�$�!���
	�;0�� >��7���!��:����0����� ��<A��0�1
��� 125 ��@�
F�
F$�
 

 
 
 
 
 

 
 

 
 
 
 
 

	A7�$� 3.13 ���D��
7	$�;
�$�;/1�/#��0#�����#�	#!#����;/#��?$�G		�:��� [2] 
 
 ���#1��9�#�!	0hhs��$�"�����!����#�	#!#�� !�
���	?�:����0����� ��<A��


A�?�� 750 ��@�
F�
F$�
 "�1���

$�/�� !������:�
��
�YY��
b=���$�
���	?���
�YY��	;�#�
0��
78���1���$ 

 #�!	0hhs��$��:�
7�$������=$
��FH ���
�YY���$��A1
�����D��/��:�	H� (Charge) 
"��>#��H (Voltage) >�����#07#�!	7	�
<� :�	H� !�F�;F���"��	�/�"=��#1�7	�
<�>#��H     
"�1�$����$/�� /1�/#��0#���	�;;!�0�1������A1��;/#����#���
��
�YY�� ������$�7	�
<�
>#��H !��$7oY��
	����/1�/#��������� ���
��"��/1�/#��0#���	�;; F���!�
7�$���"7�����
/#����#���
��
�YY�� ���������#�	#!#��7	�
<��$��$#�!	0hhs���A1	#���#�!������:�";;
>#��H  
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���!9���� 
 ��#�	#!#��7	�
<�/#��
	1��$
�		?�� /#���1������	�:���� "��7	�
��G�<�=    

�$�$�
 �
����
7	$�;
�$�;��;��#�	#!#��7	�
<�����d 
����=�!�	��!��/#��0# /#��?A��������
����A� "���1��/#��?$��:���� ��1��0	�P�����#�	#!#��7	�
<�/#��
	1��$��$���!9������
	����
� ��<A��"��=���E�#���#��? �$��9���	������� 
����� ��<A��
A�
�������9����
b=�������#�	#!#��"�1
����# 
�YY����	
���
�
�����$�0��	�;!��$/1�
A�����$�/#��?$���9�d "����	���������#�	#!#���$�
=���E�#�	 �	��$��	
��E�
�$�0�1
�P�����!��$E����/1�/#��0#�����#�	#!#��E��=���07 

 ���/#		�#����1������������	�:���#�	#!#��7	�
<�/#��
	1�/�� 
�YY�� 
��	
���
�
�����$��	#!#��0������!�
78�
�YY���$��$
1#�E
����/1���	
���
�
������"�#
�	#!#������d ��#� �����D���$���#�	#!#��"�1��7	�
<�!��$/1��9����:$�"����!��EA�E���#1� /1��$�
0��!����@�������d ���!��"�#�$�������	"��#!��$/1�7	����
78��$�
7�	H
FP��H���/1�	#�������� 
F���>��7���"��#!��� Y������$0�1
��� 3 % 
  3.2.4 #�� ��,���+���-�HI�������J��' 
  ��#�	#!#��7	�
<��$�
78�#�#������	
�/>�>��$�1�
 � ��	�	#!#�������D���$�!��$
����$����#1���#�	#!#���$���1�#��"��#�����������7	���	 ��1�#/�� 
78���#7	�
<�0�1
��E�
 "��   
�9���	�	#!#��>����	
�P��9�"
�
�
F�	H07���! �#��
�1����� �������!��
���	?�!��7oY�����

�������!��
���"#����� 	�����	�	#!
�; /#��	��� /#��?$�G		�:���  "�����!9��������d 0��
78�
��1��� $ 
 

3.3  ���������!���
������
�������J��'�K�#��� ��,������!�!�$�����#����� 
 Chetpattananondh,K et.al.[18] 0��

��� 7�	�H��	#����	
���
�
����F���
78���	

#����	
���
�
�������	�;;";;0�1
��E�
��#�#�G$��	�#�������9�"
� >���$� 7�	�H����0��"�1 
"��1��9�
����9�"
� "�� � 7�	�H�	#!	�;"
� (Photo detector ) ��@��������	�$�#1�
����"
�?A��#��
�9�����$/#��
������"
��$����	��;07���� 7�	�H�	#!	�;"
�
7�$���"7��07/1�
�YY��0hhs��$�
#��0��!�
7�$���"7�����07��#�  F���"��1��9�
���"
�!��:�
�
F�	H0�>�� 1 �����#���H �$��$/#��
�#�������9�"
� 3 �����
��	 "���$/1�/#����#/��������9�"
�
�1���; 670 ��>�
��	 ��
1#�
� 7�	�H�	#!	�;"
��$��:�!��$"?;/#��?$�
78� 100 ��>�
Z�	�FH E1��#�!	"7��
�YY��!����	

���
�
����
78�
�YY��0hhs� "������
�YY��07���>7	"�	�/��=�#
��	H7	��#�E�  ���	A7�$�
3.14 >���:�F�	Hh"#	H�$�:���#1�"�;#�# (LabVIEW) F���
���	?
�$��>7	"�	�7	��#�E������
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Dx

Light source

photo detector

Output

Voltage

Colimated

light

X

XPosition0

O
u

tp
u

t 
V

o
lt

ag
e

D


78�"��=��!A� (Amplitude) �����	
��������A1��	A7�	�h��ho��H:�����
#�� "��ho��H:�����
/#��?$�0�� 

����	�:����
9��	�;#��/1���	
���
�
�������#��? �����9���	7	�;
������ 7�	�H
�������
/	�������#�������A1���9�"��1������������

��"
��/#��0#���
/	�������#�� (x = D/2) >���$� 
D 
78�/#���#�������9�"
�����!��"��1��9�
���"
� ���"
����	A7�$� 3.15 /1���	�	�!�����
/#��
���
�
���� (Vibration displacement) ;�=���E�#���#��? �$��$��	
���
�
����
���	?�	#!#��
0��!��7	����"
��$�
���
A1� 7�	�H�	#!	�;"
�F���!�"7��07
78�/1�"	�������0hhs� ?����	�	�!��
���/#��
���"
� (Light intensity) !��"��1��9�
���
��9�

�� !�0��/#��
��=��GH	��#1��/1���	
�	�!�� X ��;"	�������0hhs��$�#��0��!��� 7�	�H�	#!	�;"
�
78�

���	����"
����	A7�$� 3.15 

 

 
 

 
 
 
 
 

 
 
 

	A7�$� 3.14 ������	
/	����#�� Vibration displacement ��#�#�G$��	�#���9�"
� 
  

 
 
 
 
 
 
 
 
 
 

	A7�$� 3.15 ������	���
�/��/���"
�
�
F�	H 
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3.4  ��������#����!.�����������!�����������
������
 
  !��	A7�$� 3.16 
78���	!��#��: ������
=�����/#��0#���
/	�������#��/#��

���
�
�����$��:�
�/��/���"
�
�
F�	H 
9��	�;#�G$��	���������0���9� 0�>/	��
��	H (Micro 
meter) ��7	�;
�����
=����#�������9�"
� �9���	7	�;
������9�"��1����7���0�>/	��
��	H���
�����
����07;���9�"
�/	����� 0.1 �����
��	 >����� 1ξ  
78�/#���#�������9�"
��$�
��
�P� 2ξ  
78�/#��
�#�������9�"
��$�?A�;�� 7	�������"
��$�
1��07���!�	�;"
�!�
7�$���"7��07
78�/1�"	����
���0hhs� ��	A7�$� 3.17 "
����	7	�;
�����7���0�>/	��
��	H;���9�"
�  

 
 

 

 

                           

 

 

 

 
 

	A7�$� 3.16 ��	�������/#��0#���
/	�������#��/#��
���
�
�����$��:�
�/��/���"
�
�
F�	H 
 
 

 

 

 
 

 

 

 

 

 

 
	A7�$� 3.17 "
����	7	�;
�����7���0�>/	��
��	H;���9�"
� 

        Laser diode 
Output 

voltage 

Photodiode 

Micrometer 
 

1ξ2ξ
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Sensor Sensitivity  X circuit

y = -0.9909x + 3.6121

R
2
 = 0.999

0

0.5

1

1.5

2

2.5

3

1 1.5 2 2.5 3 3.5

Displacement (mm)

A
m

p
li
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d

e
 (

V
)

Sensor Sensitivity  Y circuit

y = -0.9813x + 3.5561

R
2
 = 0.9993

0

0.5

1

1.5

2

2.5

3

1 1.5 2 2.5 3 3.5

Displacement (mm)

A
m

p
li

tu
d

e
 (

V
)

;�����E�/1�"	����0hhs��$�
7�$���07!����	7	�;
�����7���0�>/	��
��	H!�;���9�"
��$�
1��07���
!�	�;"
�!���� �9�����A���=�P���	�h"
��	�����	�	�!���$�
7�$���07����#�!	"�#��� "��
"�#���� ���"
����	A7�$� 3.18 

                                                  

                               

                     

 

 

 

 

 

 
               (�)             (�) 

	A7�$� 3.18 /#��0#���/1���	�	�!��#�!	 (�) ���"�#"����� (�) ���"�#"������ 
 

  !����	�����=;#1�/#��0#���
/	�������#����	
���
�
�����$��:�
�/��/���"
�

�
F�	H�$�!��$/#��
78�
:��

���$��$ F���
�����9����
���	"�#>���!�0��
���	

���	��$��$/#��:��
7	����  0.99  ����#�!	��"�#���"��#�!	��"�#���� 
���	?7	�;����� 7�	�H
9��	�;#����	

���
�
����0���1�� �	#!#����	
���
�
�����$�"��
=�����
/	������
�;0��>��0�1����
��E�


=�� �������!��
���	?�!��7oY��!��
���"#�����0�� 
:1�/#��
�7	����
=�����
/	������
�; 
/#���	 �	����
=�����
=�����
/	������
�; "���$	�/�?A� 
 
3.5  ����������#'��%%�&������
������
 
  ��	#� 
/	���H
�YY�������	
���
�
���� 
���	?";1�:���
�YY���$�!�
#�
/	���H
78�
��:��� /�� 
�YY����	
���
�
����";;	#� (Overall Value) "��
�YY�� 
��	
���
�
����;�>�
��/#��?$� ��	#�
/	���H
�YY����	
���
�
����";;	A7	#� 
���	?�9�
>����	
7	$�;
�$�;��;/1�������� >���:�������	�$�#1� �������
�YY���������
/	����!��	�P�����$
"�#>���;�=	1��0����� �����
�$�#���/1�����������/#��	 �"	������	
���
�
�����$����	�;
0��
9��	�;"�1��
�YY�� (	�����	
/������$� /#��
	P# /#��
	1�) !�?A��9�

��
=����:�7	���; 



   

 

39 

��	#�
/	���H 
9��	�;
�YY����	
���
�
����;�>�
��/#��?$� 
���	?�9�07�:�����	#�
/	���H
��
�
�� ������;�=	1�����
/	����!��	 
 
  3.5.1 ���+���!�
�/����!�$
������������
������
�����%%�&�����! 
  ����A��$��$�$�
 ��$�!��:�
9��	�;
78�
���H�9����#1� 	���;��	
���
�
������
���	�;0�� 	���;��
	������	�;0�10�� /#	��!����	
�P;����A�
�
����
/	����!��	����<����� 
��	�9����!	�� �	����!!��:� ��	����	A7�$� 3.19 
78�
���H����	�9����/#��	 �"	���� 
��	
���
�
���� "����"�#����!�
78�/1���	
���
�
�����$���A1��	A7�����	�!���	��	���          
��	
/������$� ������$�"����"�#���!�
78�"��/#��?$� 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

	A7�$� 3.19 �	�h7	�
���/#��	 �"	������	
���
�
���� (	�����	
/������$�- /#��
	P#) [20] 



   

 

40 

  3.5.2 ����������#'��%%�&������
������
�
T��!
���!*�� 
  ��	#����	
���
�
����0�1#1�!�
78�	�����	
/������$� /#��
	P# �	��/#��
	1����� 
����>��	#������	
���
�
���� (Overall Value of Vibration) 
:1� /1� Peak to Peak /1� RMS 

���	?�:�;��
<�=���
/	����!��	��0�� "�10�1
���	?;��
�
�� �����	
�����	
���
�
����

=	��
�$��#����
b=�����������	
���
�
�������"
����	A7�$� 3.20 ������� Peak to Peak �$/1� 
4 mils "�10�10��;��?����	
���
�
����
��������$�/#��?$�
�1��� F���
78�E�	#������	
���
�
����
!������d 
�
��  F���"�1��
�
�� !��$/#��?$��$�
78�/ ����D��
b=����#  

 
  
  
 

 
 
 
 

	A7�$� 3.20 "
����	
���
�
����!������ d 
�
��  [20] 
 


�YY����	
���
�
�����$��$����A�/#��?$���!"
�������D�����������;
#�� (Amplitude vs 
Time) �	����!!�"
�������D�����

7��	�� (spectrum) F���
78���	"
��
�YY�� 
��	
���
�
������	A7�������"��/#��?$� ���"
����	A7�$� 3.21 F���
���	?�	�;��	
���
�
����

���!��
�
�� �� 
 
 

 
 
 
 
 
 

	A7�$� 3.21 "
����	
���
�
����;�>�
��/#��?$� [21] 


